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Paper : ZOO-HG-3016/RC-3016

(Physiology and Biochemistry)

Full Marks : 60

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the questions as directed: 1x7=7

(a) Which of these hormones is made by
the posterior pituitary?

(i) .FSH

(n) LH

(tti) ACTH

(iv) ADH

Contd.



(b) State True or False :

Membrane potential is the voltage
difference between inside and outside
a nerve membrane.

C51WT <51 ̂  ^
<Itf^ I

(c) What is tidal volume?

CSfFTlft 1% ?

(d) Parietal cells secrete.
(Fill in the blank)

1^«r ̂  I

(e) Identify the hormone that increases the
glucose level of blood.

^ ̂ ^ I
(i) Insulin

(it) Glucagon

(iii) OjQTocin

(iv) Vassopressin

(f) are enzymes that differ in amino
acid sequence but catalyze the same
chemical reaction. (Fill in the blank)

^ ̂ i

(g) Gluconeogenesis is the generation of
glucose from non carbohydrate sources.

(State true or False)
^1^^ "c«TC«iRs> 'Rt

^ I (^W (FT ̂ W)
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2. Answer in brief: 2x4=8

i>^<P 1^ S
(a) State the characteristics of respiratory

pigments.

"£#1^ ^ I
(bj Define synapse.

(c) Draw a labelled structure of neuron.

^  §ar ^ I
(d) What is meant by electron transport

chain ?

3. Write short notes on: (any three)
5x3=15

^ c5m ̂  S (I^c<t>/Mf
(a) Muscle protein

(b) Composition of blood

(c) Histological structure of adrenal gland

Stl^ 91^
(d) En2yme inhibition

(e) Glomerular filtration

gfCWfR
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4. (a) What is action potential? Explain the
steps of generation of action potential
in neiironal membrane. 2+8=10

^ ̂ I

Or/^

(b) Describe the sliding mechanism theory
of muscle contraction with proper
diagram. 10

^sim tro ^1

5. (a) Describe the process of origin and
conduction of heart beat. 10

Or/m

(b) Write in detail the process of glycolysis
with illustrations.

6. (a) Explain in detail the process of
digestion and absorption of
carbohydrate. 5+5=10

^1

Or/Wt

(b) Where does urea cycle takes place?
Describe the process of urea cycle.

2+8=10

-m ^
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